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(3%)/. H?gh winds fend 1 IT/C'IL' Y 001S ]Crom buflolfnjg

vrather than T force Ahem nward .

Lohy 7

(37202 Bernoulli eguadion s an energy quaa(fon and s
derived from “Hhe ezuazﬁ‘on o]C Fhe conservation
of erergy. Nes or Mo hy?

(3703 When A car passes *ruck or bus af hfglq sfego() A
—Pronounéeo( sie thrust s exlaen‘enceo( by the
occupanls of the car. Explain  this  phenomenon,

(3704 The f/ame of a candle may  be eXTfngal‘sAeo( move edf/‘/dq
bj exhalrng oy b] ,‘nhc\(,‘ng 7 why?

In whidh insTance (S *he motion more ﬂedf/&«[

rrrotashonaf ?

(3705 WAg does Fhe wnoefT ?E f/u/‘o( head have no
thg’\cal 9?!1/7@‘6%69 n the mOVLfO"J Df? a ;ds?

(37:) 6 Water 7 a%wags regarded a5  an anmpress,‘b/e
][{qfo(. Yes or Ao, why?

‘(37;)7 wha s (T desirable . have a hyolo'aull:‘c ojum[o
fofm a—(— i‘he Xoe p]( 4 S‘Fi//way?

How may +his  be allained?

(3%)8,‘ S’uﬁed” means uf meagurfn; bo?"h olynam/“c and
| kinematic V:\SUOSI\)J. |

(6719 Bounola:y—layer .'*heo?' ’'s  based wpon  the premise
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thal™ +he thrckness § s very small compafrod wivth
other linear dimensions, Poes Hthis premise evaw?‘ua/é’y
Jceu‘l T be _/:u//)[f//eo( :
(a) near Ir eor fa/r' from the /ea,éb‘n; edﬁa,
(b) with fncreasing or decreasfnj l/fgcosiéij
(¢) of h/‘?h or [ow Ve/ocf‘fy ?

({Z)/o, What s +the cause o]C vibration ™ ‘fe/ep/vone wires
oA hz‘gh wnd ?

Onder what cTt”cumS—rames could such vibration edgi/dq
lead £ rupture ?

(107,) /. E.’)(F(affn w\l g (irdj Crr/ses 0. C:‘fe Some fl’ach\CQ/[
appl’ cations,

(67%) (2, («)l’l% Q laminar /;?u,‘d d‘,oj—' emand#fﬂ; 7£)’Dn’l Q

/or? cireular pipe s observed | [t appears t
divide inTo Two &ejs (A-A) connected by a ve;y
+hin sheel” (&) of //?ufcl (F!?./), QOn the other
!ﬂafnd,‘ 77[ Q  similar (}67" rssues from a short
orifice it remains as a Single d‘e‘i“ (Fry.2).

(A)h;} the eh'fference? |
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(fo i) (3 The power’ P regw‘feo( T drive a pump clefenc?s

wpon  the drgcha/rge @, #he pressure rise op

the fluiel density P, the pump Size D, and Zhe

eﬁic,‘encé e, Use dimensional analysis Ao defermine
a ae/nerad relstionship amonj these variables.

(F ) 14 A couriferslockwise  vorlex of ';T)'ené{fh K s lofed
in a corner formed —Q? two, plates as shown.

(3) Show %he fmaﬁe 9ys‘fem
(b) carefuléj sketch some streamlines oand ejw‘aoo'f‘en"/‘/‘al

[mes
(¢) sTate how gou would defermine he pressure

ol'fsfrfbu'hbn on the p[aj‘es ( cadeculation 07[ P
t< nol regw”reol ).
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(77 15 Explain *the phggk&’{ f’"e&“"”g ﬂf " addeol  mass

()_6'7)) 16, Con‘side,r TLeoo - el«‘meng;onal f(oud from 3 noj;/e
‘ol/i'éd'lao’?,‘ndq & J,‘eT of waler ( 2= /.2x/o'r R /sec)
onfe a smooth glass plate.  The plate slope is
sel such that the velocity aF the free surface
remains cons'faﬁ{' of 12 'ff*/sec, The water dep'/‘h
ot the exiT frvm the nogzle (X=0) s ale ¥t
A?Cuming a turpuledt bounclc\rj /Ager over  the
ertire p/a?«"e) estimate *the dicTance X= L




BEAAKXEN: $FE ﬁ,iwﬁ%;&( gy &)L

ot which furpulent” f/uc‘faaﬁlfons should ][,‘r,??'" appear
on #he f?’ee S‘urface. Skelfch *he VQ/OM‘?Ly
distributions af X:% / L_) and 2L, Would 700(
expedlt  the waler depth o remain conslan™ /perease
opr decrease ;n the fegion 0< X<l 2
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